For Screen Sizes 40" - 75"
Full Motion Cantilever Mount
Max Capacity : 100 Ibs (45.5 kg)
VESA ; 200x200 - 600x400 mm

ar-

i 200(Mn)~600(Max)
e
A- =mmf) (M5x25)-4pcs G- (®13x$6.2x1.5)-4pcs
B- emm) (M6x25)-4pcs H- / (10mm)-1pcs
C- mm) (M8x25)-4pcs - &  (M6x8)-2pcs
D- Esmmmmm (7%70)-6pcs J- wm (M6x20)-4pcs
E- CHEED (P10x®7x60)-6pcs K- (M6)-4pcs

-

(©15xD8.2x10)-4pcs L - ommmmm)

(M8x45)-4pcs

Install mount on masonry Ol‘\
concrete(Need 2 Men)

\

EEEHEE B B

[
el
=t

EEEREHEH

S

4001079403 A6

Thay dé] va chinh sira thudc vé quyén cla cong ty ching tél , néu chira nhin
dwgc thang bae chinh thiee tir cbng ty chung tél , xin dirng thay déi chinh

sira phan thuyét minh vé 1&p dat.

Produeent posiada prawo do wprowadzania zmian w tredci ponikszej instrukeji,
Wszelkie prawa do zmiany tredcl Instrukcji s zastrzezone z wyjatkiem
oficjalnego zezwolenia.

wtdnaaudnd luanlfulsoudlag fanrdadsmiuanuuisay Waudl
W lddrudsend lawiavind Teafl 16 fuauna

We resarve the right to moedify or alter installation Instructions, which is

not allowad to do any modification or alteration without fermally notiee.

BERUSEQEBEC >V TRBELNSHCEL, la‘ﬁgm-‘ﬂ)iti
MERDELVEE, BARTHNAREEERCRETEGLY,

&= B HoEale] glom M s By Furt A 4Ny
FEHERS PR E PR RS i

Unsere Firma hat das Recht fir Anderung und AbSderung. Ohne offizielle
Mitteilung von uns éndern Sie die Montageanweisung bittte nicht,

Npape W o K HaWe i Be1 nonyyenna
i ] HE HEZQO NP CTH M

O MOHTaxCY.

El derecho de modificar y
Fimi de nuastra
Instrucciones de instalacion,

Le droit de modifier et de changer mon entreprise, en I'sbsence d'une mise en
demaurs de notre société, 8"l vous plalt de ne pas le modifier et de modifier les
instructions dinstallation.

Hetrecht van wijziging en revisie behoort toe san ons bedrijl. Zonder formele
mededeling van ons bedrijf, mag u de Installatiehandieiding niet wijzigen of
herschrijven.

1 dirltti di modifica & cambio appartengeno alla nostra societa,sl prega di nen
modificare e biare le d'installazione in diun'

formale della nostra sociata.

pae mb b RS AN e sy gleS] 3 ey pie a0 RS AU Ak g pually Judadll 3 pla
oAl s fisaty s

mi an da un
favor de no modificar y cambiar las

Todos direites sobre as modIfi, fes & a alt p A nossa empresa,
ndo faga nenhumas modificagdes e alteragdes desta Instrugio de Instalagio sem
nossa notificacio formal.

Hak modifikasi dan perubahan adalah millk perusahaan kam|, silakan jangan
memodifikasi dan mengubah keterangan pemasangan tanpainformasi resmi
perusahaan kami.

:5%3{!#’1‘1*!?—&4}!. ERRRARELEDM, ATESNREER

ﬂ Interface assembly installtion 3

ﬂ Cables managema2nt

Cables cover




